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Баланс потужностей
P – активна потужність

Q – реактивна потужність

S – повна потужність кола


[image: image53.wmf]2

2

Q

P

S

+

=

;    S=UI 

[image: image54.wmf]jQ

P

S

~

+

=

;    
[image: image55.wmf]j

=

j

Se

S

~

;   
[image: image56.wmf]*

I

U

S

~

&

=



[image: image57.wmf]å

å

=

K

K

ген

I

E

S

~

*

&

;   
[image: image58.wmf]å

å

=

2

K

K

сп

I

Z

S

~



[image: image59.wmf]å

å

=

сп

ген

S

~

S

~


IC





(





IR





I





U





IL





Bc





(





BL





Y





B=BL-Bc





G











I





(





U





UR





UL





Uc











(





Z





R





XL





Xc





QC





(





S





P





Q=QL-QC





QL





QL





(





P





S





Q=Qc-QL





Qc








_1082207519.unknown

_1082391156.unknown

_1082392492.unknown

_1085308622.unknown

_1116571421.unknown

_1116574547.unknown

_1116603804.unknown

_1085308709.unknown

_1082393858.unknown

_1082397313.unknown

_1082398387.unknown

_1082398507.unknown

_1082398282.unknown

_1082398277.unknown

_1082397210.unknown

_1082397258.unknown

_1082394065.unknown

_1082393460.unknown

_1082393489.unknown

_1082392944.unknown

_1082391858.unknown

_1082392362.unknown

_1082392440.unknown

_1082392260.unknown

_1082391655.unknown

_1082391736.unknown

_1082391340.unknown

_1082235409.unknown

_1082282748.unknown

_1082391058.unknown

_1082391133.unknown

_1082390134.unknown

_1082236405.unknown

_1082236477.unknown

_1082235766.unknown

_1082234401.unknown

_1082234639.unknown

_1082234772.unknown

_1082234444.unknown

_1082207858.unknown

_1082208019.unknown

_1082207733.unknown

_1082151001.unknown

_1082199050.unknown

_1082200837.unknown

_1082201451.unknown

_1082199402.unknown

_1082151355.unknown

_1082198255.unknown

_1082151294.unknown

_1082138323.unknown

_1082138701.unknown

_1082149248.unknown

_1082138350.unknown

_1082137382.unknown

_1082137511.unknown

_1082138252.unknown

_1082136769.unknown

